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WORKSHEET 58 – Systems of Equations II
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Solve the following systems of equations.

1.   x + y = -2z – 3     




2.   x + 3y + 2z = -2     

         2y = -z -1





     2x - y – z    = - 9

            z = -3




        
        x
 – 2y + 5z = 1
3.  x + y = 2z

   




4.   2x + y = 1


     x – 4z = 2 + y




 
     3x – 4z = 1

     2x – y – 5z = -1




    
     3y
 + 4z = -7

For each of the word problems below:
A. Assign your variables
  B. Write your system of equations
C. Solve label and circle your answers
5.  
A rectangular box is 3 times as long as it is wide.  The width of the box is the same as its height.  If the sum of its length, width and height is 20 cm., find the dimensions of the box.








   
6.  
A collection of nickels, dimes, and quarters totals $3. 65.  There are 41 coins in the collection.  If there are 4 times as many dimes as quarters, find the number of nickels, dimes and quarters in the collection.



   
7.  
The sum of the digits of a three-digit number is 11.  The tens digit is 3 less than twice the units digit.  Seven times the hundreds digit minus 3 times the units digit is 2.  Find the number.

8. 
Gordon invested $3600 for one year in three different accounts.  The accounts paid simple annual interest of 6%,  8% and 7% respectively.  The total interest at the end of one year was $260.  If Gordon invested twice as much at 8% than 6%, find the amount he invested in each account.

9.  
A builder hired carpenters at $16 per hour, apprentices at $9 per hour and student helpers at $5 per hour.  Twice as many carpenters as apprentices are hired.  If the builder hires 11 people and pays them total salaries of $133 per hour, how many of each did he hire?

10.  
A box of metal pieces contains triangular, rectangular and hexagonal shapes.  There are 42 metal pieces in the box, and the pieces have a total of 167 sides.  If there are 13 more rectangular pieces than hexagonal pieces, find the number of pieces of metal of each shape in the box.

11.  
The sum of three numbers is 15.  If the second is subtracted from 6 times the first, the result is 1 less than the third.  If twice the first is added to the second, their sum is 3 more than the third.  What are the numbers?

12.  
Mrs. Leary ordered 3 math puzzles, 4 compasses and 5 rulers for $10. 95.  Mrs. Harris requested 5 puzzles, 2 compasses and 6 rulers for $13.35.  Mrs. Grove completed the math department order with 4 puzzles, 5 compasses and 3 rulers for $13.20.  What was the price of each item?
